Topic: Duration

Shyam is receiving an annuity due with 12 annual payments of 200.

Calculate the Macaulay Duration of Shyam’s annuity using an annual effective interest rate of
8%.

Solution:

Machur — 2SOV _ (200)(O)V° + (200)@)V + .. +(200) L)V
DV 200a_

200 »
(200)V! +...+ (2200) a0Vt 2008+ ) g (B ~11L.08) )
2008 2004

- -1 _ -1
200 1-(1.08) N 200 (1-(1.08) _11(1.08)™
0.08 0.08 0.08

1 1 08 ~12 = 45957
200 1-(1.08) (1.08)
0.08




Alex owns a 15 year bond with annual coupons of 100 and a maturity value of 2000.

Calculate the Modified Duration of her bond using an annual effective interest rate of 5%.

Solution:
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Matt owns a 20 year bond with annual coupons of 1000 and a maturity value of 20,000.

Calculate the Modified Duration of this bond at an annual effective interest rate of 8%.

Solution:
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A 20 year bond matures for its par value of 10,000. The bond pays annual coupons at a rate of
7%.

Calculate the Modified duration of the bond using an interest rate of 5%.

Solution:

Coupon =10,000(0.07) =700

N=20, PMT=700, FV=10,000, I/Y=5, CPT PV=12,492.44207 = Price of Bond
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An annuity due pays 1000 at the beginning of each year for 22 years.

Determine the Macaulay Duration of this annuity at an annual effective interest rate of 6%.

Solution:
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Jake will pay Yash 100 at the end of one year, 200 at the end of two years, 300 at the end of
three years, and 400 at the end of four years.

Calculate the Modified Duration of these payments at an interest rate of 10%.

Solution:
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An annuity due pays 20,000 at the beginning of each year for 20 years.

Calculate the Modified Duration of this annuity at an annual effective interest rate of 8%.

Solution:
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A 25 year bond pays semi-annual coupons of 200 and matures for 1000.

Calculate the modified duration of this bond at an annual effective interest rate of 12.36%.

Solution:
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A 30 year bond has annual coupons of 1000 and a maturity value of 20,000.

Calculate the Modified Duration of this bond at an annual effective interest rate of 6%.

Solution:
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A 30 year bond matures for 10,000 and has semi-annual coupons of 300.

Calculate the Modified duration at an annual effective interest rate of 10.25%.

Solution:
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A perpetuity due pays 100 at the start of each year.

Calculate the Macaulay Duration at an interest rate of 6%.

Solution:
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